DAQ6510 — High Ohms Scan Rate/Settling Time
Channel 109 =0.5Q and Channel 106 = 50MQ

Successful scan using mixed measure functions of 2W and 4W Ohms

DAQ6510 AACQUISITION / MULTIMETER SYSTEM

£ READING TABLE

Active (defbuffer1

Time Reading Channel

3 55.514652 +0.490954 0
03/31 13:58:55.620224 +049.8115MQ
03/31 13:58:55.687591 +0.4909820
03/31 13:58:55.793168 +049.8001MQ
03/31 13:58:55.860536 +0.4910320
03/31 13:58:55.984829 +049.7836 MO
03/31 13:58:56.052196 +0.4909460
03/31 13:58:56.157773 +049.7947 MQ
03/31 13:58:56.225143 +0.4904890
03/31 13:58:56.330721 +049.7809 MQ
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IVI Driver Code for a Scan:

'use 4W for @.50hm.

DAQB51@.ChannelFunction("189") = KeithleyDMMeseerunctionEnum. KeithleyDiMMesearunctiond4WireResistance

s

"if use two wire for this known to be high ohms channel

DAQE518.ChannelFunction("186") = KeithleyDMMES@@FunctionEnum. KeithleyDMM65@BFunction2WireResistance

"Set up Scan
scan.Create("189,186")

"Set the scan count

scan.Count = 5

"Set the time between scans
zcan.Interval = 8.1

"Enable scan retart after power failure
scan.Restart = True

'Clear buffer
DAQE518.Buffer.Clear("defbhufferl™)

"Trigger to start the scan...
DAQES1R.Trigger.Initiate()

"Wait for scan completion
DAQRS1E. Trigger.Wait()

System.Threading.Thread.Sleep(5@08)
Try
"Query the readings from the instrument
Dim MumBufferReadings As Integer = scan.Count * 2 count * number of channels in scan
Debug.Print(DAQES18.Buffer.FetchData (1, NumBufferReadings, "defbufferl™, “READ, CHAN™))
Catch ex As Exceptior
Debug.Print("wWhoops'™)




For a Single Reading from a channel, the use of 4W Ohms on the 50MQ DUT requires more settling time.

£ READING TABLE

Reading

+H049.

Two aspects to address it:
Set a high measure range and re-enable auto range so that the measurement starts on high range.
Send a SCPlI command to apply extra channel delay, 250msec: “:ROUT:DEL 0.25, (@106)”

Dim bufferName As String = "defbufferl”
Dim buffElements As String = "READ"

‘chanl®é = 58M-Ohm, chan 189 = 8.5 ohm
Dim chanStr As String = "186"

DAQE518.Measurement. Configuration . NPLC(KeithleyDMMe5e@FunctionEnum. KeithleyDMMe5@@FunctiondiireResistance) = 1
DAQES1@.Measurement. Configuration. LineSync(KeithleyDMeseerunctionEnum. KeithleyDMM65@8FunctiondiireResistance) = True

DAQE518.Measurement. Configuration.AutoZercEnabled(KeithleyDiMeseerunctionEnum, KeithleyDMM65@8FunctiondWireResistance) = True
'hint by setting starting range to use
DAQES18.Measurement. Configuration.Range(KeithleyMME500FunctionsithRangeEnum. KeithleyDMME65@@FunctionsWithRangedireResistance) = 180008008.0

‘restore auto range, so it can change range if needed

DAQES518.Measurement. Configuration. AutoRange(KeithleyDiMesearunctionsiithRangeEnum, KeithleyDMMES@BFUnctionsWithRangedWireResistance) = True
DAQES518.ChannelFunction(chanstr) = KeithleyDMMesearunctionEnum, KeithleyDMMES@BFunctiondWireResistance

' set extra delay for this channel
DAQE518.System.WriteString (" :ROUT:DEL @.25, (@1@6)")

DAQE518.Route.ChannelConfiguration.Close(chanstr)
DAQES1@. System.WriteString (" :DISP:WATC:CHAN (@" + chanStr + ")) 'set desired watch channel
1blResult.Text = DAQES1@.Measurement.Measure(KeithleyDMMES08FunctionEnum. KeithleyMM65@@FunctiondiireResistance,

bufferName,
buffElements)
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